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BEETDHE(01,02)H 5,
ORYPRIGODFLE (x2,y2)ZRNY =LY,

(x1, }’1)

BF 2T 4 7ADYIalb—Yar

(x1, y1)

Scilaba—F 6,
/ L1=1.0; \
L2 =1.0;

for t=0:0.1:%pi,
thetal=t; //BEET 1 DAHE
theta2 = t*2;//EEi2D A E
//FE i AR
x1 = L1 * cos(thetal);

yl=L1 * sin(thetal);
x2 = x1 + L2 * cos(thetal+theta2);
y2 =yl + L2 * sin(thetal+theta2);

armX = [0,x1,x2]; //BA &1 DxFEAZ
armY = [0,y1,y2]; //BAET Dy EEAR

plot(armX,armY,0-"); //+IE

\;Ieep(lOO); //100msik > /
nd




(2%&)pythona—F

import matplotlib.pyplot as plt
import numpy as np
import matplotlib.animation as animation

fig = plt.figure()
ims = []
L1 = 1.0
L2 = 1.0

time = np.arange(Q,np.pi,0.1)
record = list()
for t in time:
thetal = t
theta2 = t * 2
x1 = L1 * np.cos(thetal)
yl = L1 * np.sin(thetal)
x2 = X1 + L2 * np.cos(thetal + theta2)
y2 =yl + L2 * np.sin(thetal + theta2)
armX = [0,x1,x2]
armY = [0,yl,y2]
im = plt.plot(armX,armY,marker='0")
ims.append(im)
ani = animation.ArtistAnimation(fig,ims,interval=100)
plt.axes().set_aspect('equal', 'datalim")
plt.show() o
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ORYERIFDEIEZ (x2,y2) (ZFREILT=L.
BETD A E(01,02) (XEERIEFIXR LIV ?

(x1, y1)

x, =L cosb +L,cos(6,+0,)
y, =L sm@ +L,sm(6,+6,)

X 2957172

01+02%012&E VT
x,=L,cosb +L,cosb,

y,=L;sinf, +L,sinb,

2 2
X, + Y, =
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XacosICIFIEEDEEMENHAHFITEE. EFNKEKIERE

11=1.0; AT RIEE 2T 45 R
L2=1.0; x1 = L1 * cos(thetal);
yl=L1 * sin(thetal);
for t=0:0.1:2*%pi, x2 = x1 + L2 * cos(thetal+theta2);
/[/BBROFIRAE. AZzENED y2 =yl + L2 * sin(thetal+theta2);
x2 = 1+0.5*cos(t);
y2 = 0.5*sin(t); /LTI EE A

armX = [0,x1,x2]; //BAEI D xEEAE
L3 = armY = [0,y1,y2]; //BAETDyEEAE
theta2 = square(-2.5,-2.5,2.5,2.5);
theta3 = plot(armX,army,'0-'); //4&El

sleep(100); //100mstkd>

end
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(x1, y1)

=L, cosf, +L,cos(6,+6,)
v, =L;sin6 +L,sin(6, +06,)

5 d cos 6,

L APke =—6,sinf, M

)'/2:

TR > Sy 0 ) (x1, y1)

SEIREE DO H ,
X, =—L0 sin —L,(6, +6,)sin(6, +6,)
= 1,60, cosb,+ L,(6, +6,)cos(6, +6,)
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YaE7>
JTTD x, =L, cosO +L,cos(6 +6,)
Y, =L;sin@ +L,sin(b, +6,)

—AZHYIZ Xy :f(elaez)

y2=g(l91,(92)
_ . o - o .
AR PN T X, = O + [Z)
1@1%173—( 2 5491 1 8«92 2

. _0Og 5, 0g ,

V2= o0, 6 + 00, 0, a7y
FLHbHL i i_
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100, 00, |
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(x2, y2)

YIAET7 U DFETINGENDIFE AT ?
ad—bc=0&Y
(— L sin6, — L, sin 1912)L2 cos b, + (L1 cos @, + L, cos 6’12)L2 sin@, =0

==L (912 = 91 + 6’2
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